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QUESTION 1

A developer needs to set a default value if a particular element in Process Data does not exist. Given the following bpml
code, what is the correct corresponding rule? 

A. FileSize = 0 

B. FileSize.length() = 0 

C. string(/ProcessData/FileSize) = 0 

D. string-length(/ProcessData/FileSize) = 0 

Correct Answer: D 

 

QUESTION 2

IBM Sterling B2B Integrator (SBI) uses a certificate to encrypt persisted documents. If this certificate needs to be
replaced with a deployment specific certificate, which certificate store is the new certificate imported into before updating
the certificate name in the customer overrides property file? 

A. CA 

B. Trusted 

C. System 

D. Certificate 

Correct Answer: C 

 

QUESTION 3

A developer has been tasked with writing a communications process to connect to a partner SFTP server and get order
files. Authentication of theA developer has been tasked with writing a communications process to connect to a partner?
SFTP server and get order files. Authentication of the user is being performed by a key signature to the partner SFTP
server.user is being performed by a key signature to the partner? SFTP server. Which two keys are required for
establishing an SFTP session to the SFTP server? (Choose two.) 

A. Known Host Key 
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B. Host Identity Key 

C. User Identity Key 

D. Remote Host Key 

E. Authorized User Key 

Correct Answer: AC 

 

QUESTION 4

A client is experiencing failed Business Processes (BP) due to a resource group not having an active adapter available.
Which menu path identifies the adapters that are disabled? 

A. Operations > Thread Monitor 

B. Operations > Support Tools > Support Case 

C. Deployment > Services > Configuration > List 

D. Deployment > Services > Installation > Setup 

Correct Answer: C 

 

QUESTION 5

What is the most efficient way to terminate 1,000 instances of Business Processes (BP) from the dashboard interface? 

A. Database Usage 

B. Thread Process Monitor 

C. Business Process Usage 

D. Business Process Queue Usage 

Correct Answer: C 
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